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M 2ds AYE
ol FOIZ B (crel me)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
23S 1,148,228 1,175,984 N2T7,756
2ds A A 279,347 302,143 N22,796
o =8olA 261,508 283,271 A 21,763
LHHFRA 100,628 117,391 216,763
101 @124l 13,788 13,152 636
04 D12t 22 HEE = 13,788 13,152 636
OFAL 3408 13,788
=] 41,6803 * 1% = 200 8,336
RPN E =R =y 41,6803 * 18 = 10 417
-REsLsd 41,6803 * 198 » 40 1,668
- =AM 5,000& = 200 1,000
- wEHl 5,000& = 200 1,000
—-4HEE= 12,421,000& * 11% 1,367
201 Let24d] 62,440 65,639 A 3,199
01 At 22l 22,860 28,390 25,530
OgBt=&H| 19,760
—Z2lHIl, SAMI ARE 2 8,300
—SAI U= 165,000& * 12& 1,980
—QRA SNHT7Y 10,000 * 45 = 12& 480
— QIR KN A Ol 100,000& * 58 « 33l 1,500
-S2% MOS2l X1 500,0008 * 50 A 2,500
— AT HEY T WA 5,000
O FLUXNXHH =294 3,100
-2 @0 HE
55,000& = 5 = 43] 1,100
—WEUX AREE P
250,000& » 4=7D| 1,000
—gAI2 FANEH 1,000
02 =24l 16,180 11,449 4,731
Ozl (HAagEI IIS8) 500
Os &AL |Al&clbl 4,900
— KXot =82 HZ L &
100,000& = 12004 = 23] 2,400
-JIEt |XHl 2,500
OA&EHl Sl 6,390
— &t et e~+2  260,0008 * 12& 3,120
—AgAL2ACUHE =2 150,000 * 128 1,800
- sZJISANEF2HE =2
110,000& * 12& 1,320
-5ZI| ZIEAN =22 100
—gatord 2te| Xt &3l 50
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M. 2AS AL EYI
el FOIEBHA (crel:za)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
O xt&= Xl gl 4,390
-24E Y 75U 1,900& = 9,000km/9km 1,900
-2 Y BE8s
1,300,000& « 1CH = 13 1,300
— XS XA 50,000& * 13 = 104 50
- 2EXE A 228 1,040
-SHNHELS S (HEX}) 50,000& * 23] 100
03 A2 H H 23,400 25,800 N 2,400
OJiot2 =M =4l =&t 1,800
OFQUXXIMME 2& A=Y 21,600
202 04| 9,400 9,400 0
01 2LHOHI 9,400 9,400 0
OLHAFESLRFT 0| 9.400
203 & =&lY| 1,000 1,000 0
03 Al Z=&XIH 2 =&Y 1,000 1,000 0
SV EELTEESNT 1,000
204 &2 =2 F H| 1,200 1,200 0]
03 SEYRZHI 1,200 1,200 0
ONREYTLe SHAL YY)
100,000& = 1Y * 12& 1,200
401 Al HI YL 2 0HHI 5,000 25,000 A 20,000
01 A& HI 5,000 25,000 A 20,000
A GHCEE Y L FHH S A 5,000
405 XtabF SHI 7,800 2,000 5,800
01 AL 2 EF SHI 7,800 2,000 5,800
Osolelgyt =& AR 3,000
OoIal A F2¢ 200,000& * 2H 400
OHAZ WIT A 2,000
O#AIZE HIOIZ 7L 80,000& * 30H 2,400
FESsEH 160,880 165,880 A5,000
301 dEtEAZ 159,880 163,880 A 4,000
0B SH-01&-ctEes243 150,880 150,880 0
O&,cl,et&asgaza 150,880
-8 200,000& = 469 * 12& 110,400
-SEAHSB 200,000& * 46H * 23] 18,400
-SEIYF ;AN Y
20,000& = 46YH = 23| * 12& 22,080
09 HAIAH EAS 9,000 13,000 A 4,000
OJiot2 =M &ItA 24 3,000
OFQUINXRALL Fofatd4et
20,000& » 259 = 12& 6,000
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SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
302 Ol =L THAHE & 2 1,000 2,000 A 1,000
02 QI2tol THoll 2 &t 2 1,000 2,000 A 1,000
OZExoll, sAt=SMHEREIIFOE A
10,000& = 100H 1,000
NS RIIAFS 17,839 18,872 A 1,033
NS RIALS 17,839 18,872 A 1,033
101 Q124 H| 16,339 17,372 A 1,033
04 JI2ZtHIZ22NEES 16,339 17,372 A 1,033
OSYEEIMYIIE=AH 2L
41,680 ~ 10¥ » 203 8,336
OAMIKNH =S TAsFAY 2N
41,680& = 16Y * 123 8,003
206 M = dl 1,500 1,500 0
01 =4l 1,500 1,500 0
OZ¢&HA Z22XHE 25 S 2| 1,500
SrME AR FOEHAAN 20,000 20,000 0
ARE FOHAAS 20,000 20,000 0
AR FOHAAS 20,000 20,000 0
401 AlEHIZL 201 Y| 20,000 20,000 0
01 Al&H| 20,000 20,000 0
OXAHOtS o+ LA ZA}
10,000,000 * 200 A& 20,000
HEMS2AAH (B S) 848,881 853,841 N4 ,960
olad 2 A Y| 686,110 684,644 1,466
oled A | 686,110 684,644 1,466
101 21 214| 662,170 660,704 1,466
01 = 636,702 635,407 1,295
o2 429,360
-5 3,976,100& *~ 1& = 12& 47,714
-6 3,235,800& * 2 x 12& 77,660
-72 2,217,800 = 3¥H » 12€ 79,841
-8 1,991,100& * 24 » 12& 47,787
-9 1,675,900 = 5 » 12€ 100,554
-Jls72 3,158,500& * 28 x 12€ 75,804
OF0sax=¢ 900,000& = 2 » 12& 21,600
o8zs¢ 429,360,000 = 0.8/12 28,624
OAZtl = 37,730
-5 11,3642 « 1 = 25A|2t = 128 3,410
-6= 9,692& * 2% x 25A|2F x 128 5,816
-72 8,754% x 3H x 25A|2F = 12&€ 7,879
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chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
-82 7,860 * 2 x 25A12F + 12& 4,716
-9=2 7,104& = 5H x 25A12F « 12&8 10,656
-Jls7’= 88,7643 * 2H x 25A12 « 12& 5,253
OIE< 30,000& = 1Y * 2.269Y * 12& 12,204
OXMEEHEXSE 3,788
-nssn
420,790 * 15% = 0.15¥ = 43 3,788
O&FZLYIZ 12,000
- 204 0] & 100,000& * 59 * 128 6,000
-5E 0| A~10E 018 50,000& = 108 = 128 6,000
OoIAAR2 30,0008 * 7 x 12& 2,520
OA=EXNSERE 70,000& + 3% » 12& 2,520
OAZ 22X 2+E JHat3
30,000& » 3% = 12& 1,080
OsSHES22sY 70,000 * 1494 = 128 11,760
OFuZ A 130,000& = 159¥ = 12& 23,400
OY & FIHy| 429,360,000 * 1.2/12 42,936
OA I8 AtY| 429,360,000 * 86% * 7/30/12 7,180
03 I Hs22 XNHE % 25,468 25,297 171
Oz olAH| 25,468
-J23 1,230,000& *~ 1 » 128 14,760
-J|Z2g 1,230,000& * 42 0| 4,920
=l 130,000& = 1Y * 128 1,560
- WS 2XH| 130,000& * 12& 1,560
-JIsx4 40,0008 * 128 480
- Y& SOty 1,230,000& = 1.2 1,476
-2 AZ
1,490,000 /209A1 2t = 8AI2F = 7L 400
- AMETHEE = 25,156,000& = 1.24% 312
204 & 2 =S A H| 23,940 23,940 0
02 238 X4l 23,940 23,940 0
(OESE=2=F ]! 23,940
-5h= 250,000& ~ 1¥ * 12& 3,000
-63 155,000& = 29 * 128 3,720
-73 140,000& = 39 = 128 5,040
-82~92 105,000& = 794 * 128 8,820
-Jls73 140,000& = 29 = 12& 3,360
Jl2& bl 162,771 169,197 NG6,426
Jl 2 AH| 162,771 169, 197 NB,426
201 Bt A H| 112,271 111,497 774
01 At 2+2/H 04,483 29,268 A4,785
Ogbt=2H| 16,518
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